EARAROBEEIERT — 2 N— IBISH —F

20135128158 (B) 9mKiR2H

/Gl B 2 t# Y 5% —HK& B
[AE4£] 1% :19,000 ™ ~ 23#%:38,000” ~ 33%&:19,000 ™ . 43&:14,000 H 53 :5,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
< N > aisiEE 142, —-3-1— . — SHAREER (KIR)
1189 IVYTEXRT LT — TS 56.0 1(4_2)2 31389 1 (434) LA B
LIVTEFHILLR BiFiH¥r/ U3 EOHS
s = LZAER 142, -1-1- . — 1EEHE (KR
21505 2 2 LY 4 4 i 1(432)7 1-1-1-2 | 39.8 6 422)7 Lot
RZRFAT—IEK B:RAEIvUT— EvdLy RT7—L
— s [t : —~6-3- - REILES] (B%R
3l1l1|=2/7102 i o4 = 1(.;/%4.)8 6-6-3-3 | 39.2 2 (4_723) Bz
RN=V754 B:14>57 NI 455
i = 4 5 | HEEE— 1:43.1 5-5-5-4 |39.5| — 10 | 470 |/INEEAE (BERE)
4l7lg|¥-VU737 56.0 (1 1/2) (t9) |EREHTF
Z:k71=5 B:x—sn—U— =
N SRS .43 _7-7- . — MRS (BERE)
5 o | THAAT 1 R 45 = 1(14/32>2 7-7-7-7 | 39.4 7 ig? e
24 %Sv ML Bia—T L Tv— Bt -
. €210 | FABRE 1:43.2 9-9-9-9 |38.8| — 9 485 |HEE S (BER)
68|10 27 LAANF — "7 w0 (n#) o |l
LI v—TA47>F B:O7LXK-=JL A7LRXAXZy K
s : o4 | BT 1:43.3 4-4-5-5 |39.8| — 3 465 | EBEHEE (KR)
7 &Y 3 YF IR 56.0 (1/2) (+1) HEHEFR
R:2¥Z2VIAL BHZ—XZ1I Nk ik
=5, i 4 | BERMEE 1:43.4 8-8-8-8 [39.4| — 8 458 | HHEF (KR)
sl 6 THXF=2VLA .0 1/2) we) | @ AR 7
L:a4v¥z2vy3a> B:T7YULAIL e
1) W S # 6 | BAXCIE 1:43.5 2-2-3-6 | 40.1| — 5 469 | HRIBHAI (KIR)
9l7l7| 7Yy IKR="F 54.0 (3/4) 1) |#EBT
RO—-TXA22x14 B:hTTFaT7> NRF
. o =5 ¢ N\RREZ 146. -10-10- . — Wi RN (&)
1ol 4| ~AVES RF - i 5 s (194{6;3) 10-10-10-10| 39.5 4 (ﬁo) i
L:xF21=Ggyp—X B:NILEL MST o NIVE N T 7—L
® 1—F—@EBIERL
1T=7r= 5,7,9,3,8,1,2,6,10,4
23— — 5,7,9,3,8,1,2,6,10,4
Jol=5r= (5,9),(1,7),(3,8),2,6,10,4
43—+ — 9,5,1,8,3,7,2,6,10,4
[ N5
B 9 220M 714K 5-9 620 e E 5-8 1,480 JEE 1-5-9 1,470
B B 9 110M 1-9 190H B = 5-9 1,650 EE 9-5-1 8,690
5 270M 1-5 810M B H 9-5 3,410
1 1509

ABICOVWTRDTEEERROODE. TR LIV,




